— 2 — 2
M(t) T M(tt) T V)
[GeV] [fb GeV —2] [GeV] [fb GeV 2]
0 < pr(ty,) <90GeV
300-360 230+ 0.04 +0.42 580-680 0.652 += 0.015 + 0.059
360-430 8.07+ 0.05 +0.61 680-800 0.279 += 0.009 =+ 0.036
430-500 298 + 0.04 +0.37 800-1000 0.096 += 0.005 +0.019
500-580 1.37 £ 0.02 +0.13 1000-2000 0.0113 + 0.0014 4 0.0033
90 < pr(t,) < 180GeV
300-360 0.184 £+ 0.007 4 0.031 580-680 1.144 + 0.017 4 0.097
360—430 3.8 + 0.04 +0.29 680-800 0.489 += 0.011 =+ 0.056
430-500 523+ 0.04 +0.44 800-1000 0.172 + 0.006 =+ 0.019
500-580 259+ 0.03 +£0.21 1000-2000 0.0169 + 0.0012 =+ 0.0039
180 < pr(t,) < 270GeV
300-430 0.105 4+ 0.005 4 0.029 680-800 0.387 = 0.008 =+ 0.033
430-500 0.573 + 0.014 4+ 0.040 800-1000 0.134 = 0.004 +0.013
500-580 1.330 £ 0.018 + 0.096 1000-1200 0.0437 + 0.0027 = 0.0066
580-680 0.937 + 0.013 4 0.075 1200-2000 52+ 06 +£16)x1073
270 < pr(t,) < 800GeV
300-430 31+ 04 +1.1)x1073 680-800 0.0464 + 0.0010 =+ 0.0033
430-500 0.0141 + 0.0009 + 0.0022 800-1000 0.0259 + 0.0005 =+ 0.0020
500-580 0.0196 + 0.0009 + 0.0032 1000-1200  0.01027 4+ 0.00038 =+ 0.00097
580-680 0.0359 + 0.0011 + 0.0034 1200-2000 (202 + 0.08 +0.21)x1073



